
LetsPlayMaths.com 

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved. 

Weight – 1 

1. 
ଵ

ସ
 kg = ________ grams 

a) 200 grams     b) 250 grams 

c) 400 grams     d) 500 grams 

2. 
ଷ

ସ
 kg = ________ grams 

a) 500 grams     b) 650 grams 

c) 750 grams     d) 250 grams 

3. 2 kg apple can be weighed by using two 500 gram and ________ 250 gram weights. 

a) Three      b) Four 

c) Five      d) Six 

4. 134 kg = ________ grams 

a) 1250      b) 1350 

c) 1550      d) 1750 

5. Add 115 kg 480 g and 178 kg 56 g. 

a) 291 kg 536 g     b) 293 kg 536 g 

b) 293 kg 436 g     d) 293 kg 336 g  

6. Add 1825 kg and 1265 kg 750 g. 

a) 3090 kg 750 g     b) 3190 kg 750 g 

c) 3091 kg 750 g     d) 3090 kg 650 g 

7. 245 kg 870 g - ____________ = 97 kg 650 g 

a) 146 kg 220 g     b) 146 kg 202 g 

c) 146 kg 22 g     d) 148 kg 220 g 

8. Bob bought 42 kg 750 g potatoes, 26 kg tomatoes and 52 kg 230 g brinjal. How much total weight of 
vegetables did he buy? 

a) 110 kg 980 g     b) 120 kg 980 g 

c) 120 kg 890 g     d) 120 kg 98 g 
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9. Subtract 27 kg 750 g from 98 kg 26 g. 

a) 70 kg 726 g     b) 70 kg 627 g 

c) 70 kg 276 g     d) None of these 

10. A shopkeeper had 257 kg 780 g rice. He sold 35 kg 190 g to a customer. How much rice left with him? 

a) 222 kg 590 g     b) 222 kg 950 g 

c) 590 kg 222 g     d) 222 kg 95 g 

11. A shopkeeper had 2500 kg wheat. He sold 527 kg 738 g to 1st customer and 329 kg 754 g to 2nd 
customer. How much wheat left with the shopkeeper? 

a)  1642 kg 805 g     b) 1624 kg 508 g 

c) 1642 kg 508 g     d) 1462 kg 508 g 

12. 273 kg + 345 kg 560 g – 23 kg 890 g + 182 kg 58 g = ____________ 

a) 776 kg 827 g     b) 776 kg 728 g 

c) 728 kg 776 g     d) 776 kg 872 g 

13. Multiply 36 kg 75 g by 4. 

a) 441 kg 3 g     b) 414 kg 300 g 

c) 144 kg 300 g     d) 144 kg 30 g 

14. 132 kg 210 g X 5 = ____________ 

a) 661 kg 500 g     b) 616 kg 5 g 

c) 661 kg 050 g     d) 616 kg 500 g 

15. The weight of one sugar packet is 5 kg 750 g. Find the weight of 15 such sugar packets. 

a) 86 kg 520 g     b) 86 kg 250 g 

c) 68 kg 250 g      d) 78 kg 250 g             

16. Weight of one suitcase is 12 kg 680 g and weight of one backpack is 2 kg 210 g. What is the total 
weight of 5 similar suitcases and 6 similar backpacks? 

a) 76 kg 660 g     b) 66 kg 660 g 

c) 66 kg 606 g     d) 56 kg 660 g 

17. An orange packet weighs 21 kg 430 g. An apple packet weighs 5 times the orange packet. What is the 
total weight of one apple and one orange packet? 

a) 128 kg 850 g     b) 128 kg 580 g 

c) 182 kg 580 g     d) 182 kg 85 g 
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18. Divide 25 kg 750 g by 5. 

a) 4 kg 150 g     b) 4 kg 510 g 

c) 5 kg 410 g     d) 5 kg 150 g 

19. Bob had 112 kg 650 g wheat with him. He gave 
ଵ

ଷ
 of the wheat to John. How much wheat left with 

Bob? 

a) 65 kg 100 g     b) 75 kg 100 g 

c) 55 kg 100 g     d) 85 kg 100 g 

20. During a flood, the state government distributed 3600 kg rice among 60 villagers equally. How much 
rice each villager will get? 
a) 40 kg 500 g     b) 40 kg 250 g 

c) 40 kg 750 g     d) 60 kg 

21. How many 250 g salt packets are required to make 8 kg? 

a) 30      b) 32 

c) 35      d) 40 

22. (2 X 25 kg 230 g) + 82 kg 420 g – 102 kg 5 g = _____________ 

a) 30 kg 785 g     b) 30 kg 587 g 

c) 30 kg 875 g     d) None of these 

23. Weight of a           is 15 kg 120 g. Weight of a        is 4 times the weight of         . Weight of a 

Is 3 times the weight of       . What is the weight of         ?     
          

a) 181 kg 440 g     b) 181 kg 404 g 

c) 118 kg 440 g     d) 1118 kg 404 g 

24. 8 kg potato cost Rs. 144. What is the cost of 250 g of potato? 

a) Rs. 5.50      b) Rs. 4.50 

c) Rs. 3.50      d) Rs. 2.50 

25. Weight of      is equal to weight of             . 

Weight of                     = Weight of         + 25 kg 500 

What is the weight of                    ? 

a) 30 kg 875 g     b) 32 kg 875 g 

c) 31 kg 875 g     d) None of these 
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26. Weight of            is equal to weight of . 

Weight of                      = Weight of                                                        . 

What is the weight of twelve         ? 

a) Weight of 10         b) Weight of 15  

c) Weight of 16      d) Weight of 20    

27. Weight of = 250 g   

Weight of  + Weight of          =  450 g 

What is the weight of     ? 

a) 450 g      b) 250 g 

c) 150 g      d) 350 g 

28.            -     = 250 g                -              = 700 g 

Total weight of 10           , 10        and 10                   is 45000 g. 

What is the weight of            ? 

a) 1350 g      b) 2350 g 

c) 1 kg 350 g     d) Both A & C 

29. Cost of 3 kg oranges cost Rs. 240. What is the cost of 200 g oranges? 

a) Rs. 8      b) Rs. 16  

c) Rs. 24      d) Rs. 32 

30. Cost of 200 g turmeric powder is Rs. 32. What will be the cost of 5kg turmeric powder? 

a) Rs. 600      b) Rs. 700 

c) Rs. 800      d) Rs. 900 

 

  


